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*-01 KIETH =5 14,149 & & &t &t oD 53 =
*-02 KR =5 97,786 & & &t &t BEfF1+ & =
*-03 * R =% 28,271 &t &t & & BED &t =
*(-04 * R &I 17,442 & & &t &t BEfF+ & =
*-05 * R REFK 90,175 & & &t &t BEfF+ & =
*-06 * R REFK 62,592 & & &t &t BEfF+ & =
*-07 KR iR 64,519 & & &t &t BEfF+ & =
*-08 * R KiFK 13,062 & & &t &t BEfF+ & =
*-09 KR &iz 35,794 & & &t &t BEfF+ & =
*-10 KR b=1i1] 23,407 & & &t &t BEfF+ & =
*(-11 KET R 7,725 &t 7.6 5.0 &t BiRH & =
*-12 KEM ha 9,721 et 9.4 13.1 & ity & =
*-13 KEM HER 14,885 et 95 24.3 &t s H18LLR% =
*-14 *R RAR 558,461 & 23.1 &t &t gt H18LL& =
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*-15 KR L% 154,133 - 29.4 &t &t gt H18LL[& =
*-16 KR EZill! 64,657 &t 17.2 79.1 &t gt H18LL[& =
*-17 KR KiFK 125,561 &t 1.5 68.2 &t =20 b H18LLE% =
*-18 * R (= 35,563 &t 5.4 36.0 &t gt H18LL[& =
*-19 KEM bl 16,275 &t 21.8 70.2 & vt H18 L% =
#-20 KEM =5 7,550 &t 24.0 29.1 & vt H18 L% =
*-21 KEM AN 12,262 &t & 66.9 &t vt H18LLR% =
¥-22 * R B 138,817 = 17.6 &t &t gt H18LL[& =
*-23 * R EES 146,094 = 205 &t &t gt H18LL[& =
H-24 KEM IN::| 81,176 &t 10.0 254 & s H18 L% =
*-25 KEM FEH 39,197 &t 22.0 95.3 & s H18 L% =
*-26 KEM HER 21,450 et 215 63.3 & s H18LLR% =
*-27 KEM HER 35,411 et 123 63.1 & s H18LLR% =
¥-28 N HER 23,454 &t 10.9 36.2 &t =20 iba H18LLE% =
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KIETH By 20,589 9.9 15.4 &t =20 b H18LLE% =
KET i 54,611 24.2 68.2 & vt H18LLR% =
KEH &5 7,742 18.6 35.6 & s H18LLR% =
K EH RAR 16,656 13.4 195 = =20 b H18LLE% =
FETH i 24,241 122 30.3 & vt H18LLR% =
FETH i 108,360 122 78.5 = BIED H18LLR% =
KET =B 18,560 23 45 & i H18LLR% =
KET KiFK 8,532 10.2 25.5 = BIED H18LLR% =
KET 23| 25,071 26.0 75.3 & vt H18LLR% =
KET bl 3411 17.4 12.8 & s H18LLR% =
KIETH FREF 56,106 334 = &t gt H18LL[& =
KIETH e 22,691 1.8 249 &t =20 b H18LLE% =
KIETH KR 58,618 19.2 = &t gt H18LL[& =
*R Bl 6,822 5 10.7 9.4 &t g+ H18LLE% =




